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1. Elj a relaxed eye has more refractive power ||

2 %Ech of the following is not a provision of

cthan the emmetropic eye is known as !
CR) Ametropia

(B) Myopia

\&) Hypermetropia (DY Emmetropia

the Haryana Industrial Policy, 2015 ?

(A) To create 10 lakh jobs and {o attract
an investment of 1 lakh crore

(B) To open food processing industries

(C) To open industrial township in Ambala
and Panchkula

(D) To give easy loans for opening up
700 small scale production units

The junction of comea and sciera is known as
(A) Sclera (B) Comea
(C) Limbus (D) Retina

In a row of 10 boys, when Rohit was shifled
by two places towards the left, he became
seventh from the left end, what was his eardier
position from the sight end of the row ?

(A) First (8) Second
(C) Fourth (D) Sixth
In » When the palient appreciates.

a dark area in his field of vision.
(A) Absolule scoloma-

(8) Relative scotoma

(C) Positive scotoma

(D) Negative scotoma

In wireless networking the slandard is
(A) Bluetooth (B) wifl
(C) 801.1 (D) 802,11

Is used lo fumigale and o slerilize
the operaling room,
(A) Savlon

(B} Methylated spint ,
(C) Formaldehyde gas.
(D) Hydrogen peroxide
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10.

1.

12.

13.

Consider the following statemenls & and 1l
about Land, people and geographic features
of India.
I. Indiaisthe seventhlargest country inthe
world and ranks second in population.
Il. India is lying entirely in Ihe southern
hemisphere.
(A) Only the statement I is correct
(B) Only the statement 1l is correct
(C) Boththe statements [ and |l are correct
(D) None of the slatements are correct

Ais the son of B, C, B's sister, has a son D and
a daughter E. F is the matemal uncle of D.
How is E relaled to F ?

(A) Sister (B) Daughler

(C) Niece - (D) Nephew

Horizontal plane dividing the structure into
superior and inferior parls

(A) Sagittal (B). Midsagittal
(C); Transverse (D) Coronal

Rahul told Anand, "Yesterday | defeated

the only brother of the daughter of my
grandmother”, Whom did Rahul defeat 7

(A) Son (B) Father
(C) Brother (D) Nephew

occurs in acute nephritis and
chronic renal disease due lo circulation.of
toxins, which act on visual centres.

(A) Uraemia

(B) Meningilis

(C) Hysleria

(D) Lebers congenital amaurosis

Consider the following stalements about | .

National Anthem of India.
|. The song Jana-gana-mana, .
composed originally in Bangla by
Rabindranath Tagore. i
Il. It was first sung on December 27, 1911
at the Belgaum Sesslon of the Indian
National Congress.
(A) Only the statcment | Is correct
(B) Only the statement Il s correct
(C) Both the statemenls land Il are

comrect :
(D) None of lhe statements are cormect

s
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3
14. [nstrument used for doing capsuloiomy
during extracapsular lens extraction
(A) Von Graefe'’s Knife
(B) Keratome
(C) Paracentesis Needle .

(D) Capsulolome

16, Which of the following districts of Haryana
does not share its boundary with any State
or Union Territory ?

{A) Jind (B) Jhajjar
(C) Charkhi Dadri (D) Narnaul

16. The is the opaque white of the
eye and is covered by the dransparent
conjuncliva.

(A), Sclera

(B) Comea ) S

(C) Ciliary body
(D) Retina

L

o

_ inwhich both meridia are myopic
but by drh’enng amounts.

(A}.Compound myopic astigmatism

(B) Simple myopic asligmatism

(C) Simpla hypennetropm astigmatism
(D) Compound hypemmetropic astigmatism

18. Which oﬂhe followmg river/s in the Ceccan
generally flow/s inthe easl direction and fall
into lthe Bay of Bengal ?

(A) Krishna (B) Godavari
(C) Cauvery (D} Al of the above

18. 'Which of the foflewing is not the main

function of the Haryana Urban Development
Authority (H UDA) ?

(A) To collect Property taxes

(8) To promote and secure development
of urban areas

(C) To acquire, develop and disposa of
land

(D) To undertake"conslmclion projects

14
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16.

18.

19.
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20,

21.

22,

23,

24.

25.

Which city is lho largest producer of
scienlific Instruments and called as lhe
Science Cily of Haryana 7

(A) Karnal (B) Gurugram

(C) Hansl (D).Ambala

is a procedure in which a lenlicule
of donor tissue is used fo alter the surface
topography of the cornea.
(A) Eplkeratophakia
(B) Laser-assisled in sifu keralomileusis
(C) Photorelractive keratectomy
(D) Astigmalic kesatolomy

is used to cut the conjunctiva,
~8kin and sulures.

(A) Plane Straight Scissors

(B) Plane Curved Scissors

(C) Comeal Scissors

(D). De-Wacker's Scissors

are used for sterilizing swabs,
dressing pads, tubings, plastic syringes.

(A) lonizing radiation

{B) Non-lonizing radiation
(C) Alcahol

(D). Spirit

Inacertain code, ROAD is writien as URDG.
How is SWAN written in that code ?

(A) VXDQ (B). VZbQ

(C) VZCP (D) UXDQ

Which one of the following dislricts does
nol proeduce cotton in Haryana ?

(A) Nuh

(B) Rohtak

(C) Jhajjar

(D) Bhiwanl

In , during conlraction of an
agonist, equal and simullaneous signal o
relax is senl to the anlagonist.

(A) Sherminglon's law

(B) Hering's law

(C). Primary deviation

(D) Secondary deviation -

20

21'

22,

23.

24,

25,

26,
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a7,

28.

29,

30,

31.

32.

33.

is a transparent, colourless,
inert gel which fills the posterior 4/5 of the
eyeball,
(A) Vitreous
(B) Lens
(C) Aqueous humour
(D) None of the above

Normal size of the pupil is
(A).2 =4 mm (B) 4—-6 mm
{(C) 4 =5 mm (D) 6=7 mm

Which of the following is true about Loor

Dance of Haryana ?

(A) Itis a famous dance form of the
Bangar

(B) The dance is performed outdoors by
men on moonlight nights

(C) The dance accompanies a
procession

(D) The dance is performed in pairs
wilhin a circle

The has two primary functions
thatincludes to refract light and to transmit
light.

(A) Sclera

(B) Comea

(C) Limbus

(D) None of the above

provides objective measurements
of the refractive state of the eye.

(A): Keratometers

(B) Focimeters

(C). Retinoscopy

(D) None of the above

Dadupur Nalvi Canal Imigation Project does
not imigate which of the following areas in
Haryana ?

(A) Kurukshetra

(C) Panchkula
A —_describesallthe data concerning

one person or thing.
(A} Record
(C) Table

(B) Ambala

(B) Field
(D) Relalion

(D) Yamunanagar
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1512019 (g)

N Sgfee 3 4/5 T F R |
(A) T 2
(B) ¥&

NEEEESIEEC

() IARHETE
et T TR SR 2
(A) 2-4 0. (B) 4~6fa,
(c)4-s5fasft. (D) 6-7 R,

fearon & o 700 5 W Fraffem i g
FA-TIEAR 7 |
(A), T8 S T U Wi T 9 2
(B) T T4 Jo5! B Siaeth Trell H amer o

Sl " 2
(C) T& T FEE HE WA B
(D) & 37 R & fiew g 1 fFn s 3
< fireh i B & v e
ol AT T TR = =0 i R
(A) e (ferem) "
(B) W=gre (FiFm)
(C) fo=m SR
(D) STAARE 75 A

T3 6 Sy R TR T

(A) TRtenfey

(B) Tt

© Wrierd
(D} 3% 1 & g 3 ..
TSR Tl T s el 4 faron
8 o A e el et 2 7
(B) afEmen

(D). FgIF

— M wefn gy gitnmi
S F A Her | ?ﬂﬁnmﬁm |

(C) == (D) P

A




34,

35.
36.

37.

38.

39.
40.

41.

A train travels al an overage of 50 milos

per hour for 21 hours and then lrave{s
at a speed of 70 miles per hour for 1—

hours. How far did the (rain travel in lﬁe
antire 4 hours 7
(B) 150 miles

(A) 120 miles
(C) 200 miles (D) 230 miles

Discharge seen in mild bacterial infection
and chlamydia infection

(A) Mucopurulent (B) Watery
(C)’Mucin (D) Purulent
A is the smallest possible unit of

data a computer can recognize or use.
(A) Nibble (B) Byte

(C).Bit (D) Word

Which of the following is not designaled as

an Eco-Sensitive Zone by the Environment
Ministry of India 7
(A) Kalesar Wildlife Sandua?
(B) Nahar Wildlife Sanclu‘:‘:%‘r '
(C) Khaparwas Wildlife Sancluary
(D) Khol Hi-Raitan Wildlife Sancluary
is defined as the change In

direction of light when it passes from one
lransparent medium into another of different

optical density.
(B) Refraction

(A) Reflection
{C) Retraction (D)« Resolution

The NH 2 passes through which of the
following districts of Haryana 7

{A) Gurugram (B) Panchkula

(C) Mewat (D) Faridabad

Which of the following river does not flow
through Haryana ?

(A) Ghaggar (B) Sahibi
(C) Mahanadi (D) Dohan

Coins of Samudra Gupta period were found

in which place of Haryana ?
(A) Sonipat (B)_ Mitathal
(C) Bhiwani (D) Sugh

34,

36.

36.

37.

38,

39.

40.
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43,

44,

45,

46.

47.

243 =13 and 3+4 =5, then the value
of 512 Is

(A 17 (B) V29

(C) 12 (D) 13

provide measurements of the
curvalure of the cormea.

(A). Keralometers

(B) Focimeters

(C) Retinoscopy

(D) All of the above

fn the reaction represented by

Xy ¥, ML R
Z-2 2-1

the decays in the sequence are

(A) a, %y (B) B, 71«

{(C) Y.ae, 3 D) a8

are coloured lithographic plales A
in which bold numbers are represenled in.

dots of various colours,

(A) The lantern test

{B} Isochromatic char

(C) Holmgren's wools _
(D) Nagel's anomaloscope,

The lsapTQmemed vasculanzed,
loose connective tisslie layer containing
melanocytes, fibroblass, macrophages,
lymphocytes and mast cells.

(A) Suprachoroid lamina
(B)-Choroidaf stroma
(C) Chorioeapiliaris

(D) Bruch's membrane

When was the Haryana Gauvansh
Sanrakshan and Gausamvardhan Acl
launched ?
(A) 2016

- (B) 2015
(C) 2014

(D) 2013

44,
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563.

A is defined as a portion of a
refracting medium bordered by two plane

surfaces which are inclined at a finile
angle.

(A) Mirror
(B) Prism
(C) Lens
(D) None of the above

Which of the following is true ?

(A) V2+¥5=7 (B) VZ+B< 7
(C) V2+I5<J7 (D) V24557
In oflight enters an eye, the pupil

of this eye contracts.

(A) Direct light reflex

(B) Indirect light reflex
(C) Near reflex
(D)-Psychosensory reflex

Which Report is considered as *Magna
Carta of English Education in India™ ?
(A) Hunter Commission Report

(B) Mecaulay's Report

(C) Sir Charles Wood's Despatch

(D) Kothari Education Report

Zinc blende is
(A) ZnCO, (B) ZnSO,
(C) ZnS (D) Zn(NO,),,

Which was the centre of social and political
aclivities of Lala Lajpat Rai 7
(A) Sonipat (8) Panipat
(C) Kurukshetra (D) Hisar

are made popular by the eai‘ly
trealment diabetic retmopathy study as the

gold standard for research, thisisbasedon |

a logarithmic approach:
(A) Snellen charl

(B) LogMAR charts
(C).Near acuity chars
(D) Jaeger chars

48.
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55. In 1989, which Barrage was replaced by
the Hathnikund Bamrage in Haryana ?
(A} Ottu Barrage
(B) Tajewala Barrage
(C) Anagpur Dam
{D) None of the above

56. Mauryan Stupa and refics were found in
which place in Haryana 9
(A) Fatehabag (B) Kamal

(C) Agroha (D) Shanila

37. Onacomputerwithan Intemet connection, a
is designed to restrict Inlemet access,
primarily to keep unwanted guests out.

(A) Network Address Translator
(8) Firewall

(C) Proxy server

(D) File server

S8. Night blindness is usually the earliest
manifestation of deficiency.
(A) Vitamin A (B) VitaminB
(C) Vitamin D (D) Vitamin C

9. Burming discomfon and grittiness specially
in the evening, edges of the lids fee) hot
and dry, difficulty in keeping the lids open,
mild serous discharge may be present, (i
IS seen in :

(A). Simple Chronic Conjunctivitis
(B) Angular Conjunclivitis

(C) Follicular Conjunctivitis

(Q) Trachoma

60. The Inflammation of the Pars plana part of
the ciliary body
(A) Intermediale uveilis
Posterior uveitis
(C) Endophthalmitis
Panophthalmitis

61.  Two identical coaial ¢oils Pand Q carrying
equal amount of current inthe same direction
are brought nearer. The Current in
(A) Pincreases while in Q decreases
(B) Qincreases whilo in P decreases
(C) Both P and Q increases
(D) Both P and Q decreases

-10-

55.

56.

57,

S8.

59,

60.

61.
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63.
64,

65.

66.

67.

68.

The National Horse Rese

Haryana is located in
(A) Hisar

(C) Faridabad

arch Institute in

(B) Gurugram
(D) Jind

The middie vascular fayer of eye consists of
(A) Iris

(B) Ciliary body

(C) Choroid

(D) All of the above

In Protanopes, there is absence of
sensalion,

(A) Blue
(C) Green

(8) Red
(D) Brown

Which King was defeated by Babar in 1526
in the first batlle of Panipat 7 '
(A) Nadir Shah

(B) Ibrahim Lodhi

(C) Daulat Khan Lodhi

(D) Ahmad Shah

The Union Execulive consisls of

(A) The President, the Vice-Presiden! and
the Council of Ministers wilh the Prime
Minister as the head

(B) The President, the Vice-President,
the Council of Ministers and the Chief
Ministers aof the States

(C) The President, the Vice-President, the
Prime Minister and the Speaker

(D) None of the above

How many wildlife Sanctuaries are there in
Haryana at present ?
(A) 5

(C) 12

Kushana Period is famous for the growth
of this Greco-Roman Art

(A) Mathura Art

(B) Gandhara Art

(C) Vesara Style of Al

(D) Nagara Style of Art

(B) 10
(D) 8
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71.

72,

73.

74,
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generally long in terms of axial
length, may predispose lo needle stick
injunes duning anaesthesia.
(A) Myopic eyes
(B) Hypermetropic eyes
(C) Aphakia
(D) Astigmatism

Organisms lodged in some other organ
of the body reach the eye through the
bloodstream

(A) Exogenous infection

(B) Endogenous infection

(C)-Allergic inflammation

(D) Secondary infection

allows the measurement of the angle
of deviation, which provides quanlification
and documenlation of the squint.
(A)-Altermate cover lest

(B) Prism refiection test

(C) Prism cover {est

(D) Hirschberg's test

lonisation energy of oxygen is less than
that of

(A) Carbon (B) Silicon

(C) Sulphur (D) Nitrogen

Who was the first Muslim ruler of the Slave
dynasty in Haryana ?

(A) ltutmish

(B) Qutb-ud-din Aibak

(C) Balban

(D) Razia Sultana

The intraocular pressure In glaucoma is
(A) 1-5mm Hg '
(B) 6—10 mm Hg
(C) 10=15mm Hg
(D) Above 25 mm Hg

Which mineralis found in Gurugram district

of Haryana ?
(A) Graphite (B) Slate
(C) Copper (D) Zing
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76.

77.

78.

78,

80.

81.

82.

IS 5oen In cases of raised
intracranial tension (brain tumour) and
malgnant hypertension.

{~) Optic atrophy
(B) Optic neuntis
(C) Papilltis

(D) Papilloedema

The Chairman and members of lhe
Union Public Service Commission are
appointed by

(A) President of India

(8) Prime Minister

(C) Union Cabinet

(D) Union Parliament

If x=54+2J6, then %'—1 is equal to
X

(A) V2 B) 22

(€) V3 (D) 243

Which river originates from Mewat Hills near
Jitgarh of Haryana 7

(4) Dohan (B) Sahibl

(C) Tangn (D) Krishnawati

is a condition of loss of half lhe
field of vision of bolh eyes.
(A) Amblyopia (B) Amaurosis
{C) Hemlanopia (D) Amylopia

VWhere is the Noatlonal Dairy Research
Institute located in Haryana ?

(A) Hisar (B) Jhajjar

(C) Fondabad (D) Karnal

From which principalities of Haryana did
Nawab Ahmad Ali Ghulam Khen fead the
1857 Revolt 7
(A) Panipat

(C) Bahadurgarh

(B) Hisar
(D) Farrukhnagar
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83.

85.

86.

English Language

1512019 (g)

fz=h W
E i cE e R DRE ez e R BE o

In each of the following questions, outof the | B7-
given group of words, choose the mis-spelt A =AY |
one. T = 0GR
(A) Depandent (A) T 4 w3
(B) Detrimental (8) a71: + T = fawri wfa
(C) Descnbe 5 :
c) i + A = 3 "
(D) Deluge. () o ﬁ
(D) 3 & =g Tl
In each of the following questions, an
idiomatic expression/a proverb has been
given, followed by some altematives, choose 88. fam @w=9z F1 3992 UUHA BT 2, I8
the one which best expresses the meaning ' ¥ '
of the given idiom/ proverb. RS b |
To save one's face. (A) FeFdhTE
(A) .To hide oneself
B 3|§'7ﬁb""
(B) To oppose ®)
(C) To evade disgrace (C) deg¥n
(D) To say plainly (D) 399 & #18 7
Direction : Q. No. 85 and 86 : .
In each of the following questions, out of the given . Al 5 8 <7 Jre 399 %
altemnalives, choose the one which is closest in FEd € |
meaning to the underiined word in the sentence. (A) W
No one will invite her to a tea for she is so (B) ez
garrulous, 3
(A) repeats gossip (C) ==
(B) talks a lot (D) T & %1 7l
(C) gigales all the time,
(D) laughs a lot .
90. WHSTFEITH 317 F *ft Fgd & |
On the stage of this world, the drama of life )
is transitory as well as traumatic. (A)
(A) transitional (B) ar=g
(B) dull
C) g9+
(C) fleeting ©
(D), painful (D) 3 A i TE}
-14-
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